City of Scottsbluff, Nebraska

Monday, July 17, 2023 Regular Meeting

Item Bids2

Council to discuss and consider action on awarding the bid for 20th Street Improvements - Cleveland Field to 17th Ave. - Concrete Repairs to Eric Reichert Insulation & Construction in the amount of \$1,005,348.48.

Staff Contact: Mark Bohl, Public Works Director

providing **S**imply **S**mart **S**olutions

www.MCSfamilyofcompanies.com

July 12, 2023

Honorable Mayor and City Council City of Scottsbluff 2525 Circle Drive Scottsbluff, NE 69361

RE: 20th Street Improvements – Cleveland Field to 17th Ave – Concrete Repairs

Dear Mayor and City Council:

Bids were received and opened at 2:30 p.m. on July 12, 2023 at City Hall in Scottsbluff, Nebraska for the above referenced project. A total of four (4) bids were received. The bid tab is attached for your review. The bids received were as follows:

	<u>Total Bid</u>
Eric Reichert Insulation & Construction	\$1,005,348.48
Infinity Construction	\$1,033,370.00
Mark Chrisman Trucking	\$1,039,750.00
Paul Reed Construction & Supply	\$1,048,183.54
Engineer's Estimate	\$1,168,300.00

We have reviewed the contractor's bid documents and relevant project experience. Based upon a review of these items we would recommend award of the project to Eric Reichert Insulation & Construction in the amount of \$1,005,348.48.

Sincerely,

FOR THE FIRM OF

M.C. SCHAFF & ASSOCIATES, INC.

Donald J. Dye, P.E.

Vonala J Oze

20th Street - Cleveland Field to 17th Ave - Concrete Repairs City of Scottsbluff Bid Date: July 12, 2023 @ 2:30 pm Mountain Time			Eric Reichert Insulation & Const 1502 19th Ave Scottsbluff, NE 69361					Infinity Construction Inc. 522 5th Ave, PO Box 2453 Scottsbluff, NE 69361				
No.	Description	Unit	Quantity		Unit Cost		Total	Unit Cost			Total	
1	Mobilization	LS	1	\$	49,008.75	\$	49,008.75	\$	57,550.00	\$	57,550.00	
2	Traffic Control and Safety	LS	1	\$	31,668.00	\$	31,668.00	\$	23,000.00	\$	23,000.00	
3	Remove Existing Pavement, Curb, Gutter, Sidewalk,	SF	65000	\$	1.08	\$	70,200.00	\$	2.00	\$	130,000.00	
4	5-in PCC sidewalk	SF	25000	\$	6.82	\$	170,500.00	\$	6.50	\$	162,500.00	
5	8-in PCC Pavement	SF	15500	\$	7.50	\$	116,250.00	\$	8.00	\$	124,000.00	
6	PCC Curb and Gutter	LF	6700	\$	22.50	\$	150,750.00	\$	36.00	\$	241,200.00	
7	Replace Inlet Frame	EA	17	\$	939.75	\$	15,975.75	\$	2,200.00	\$	37,400.00	
8	7.5-ft PCC Intersection Radius	EA	3	\$	844.01	\$	2,532.03	\$	2,000.00	\$	6,000.00	
9	10-ft PCC Intersection Radius	EA	14	\$	1,210.19	\$	16,942.66	\$	2,500.00	\$	35,000.00	
10	12.5-ft PCC Intersection Radius	EA	1	\$	1,487.33	\$	1,487.33	\$	3,200.00	\$	3,200.00	
11	15-ft PCC Intersection Radius	EA	16	\$	1,847.79	\$	29,564.64	\$	3,900.00	\$	62,400.00	
12	20-ft PCC Intersection Radius	EA	12	\$	2,467.50	\$	29,610.00	\$	5,000.00	\$	60,000.00	
13	25-ft PCC Intersection Radius	EA	2	\$	3,782.02	\$	7,564.04	\$	5,860.00	\$	11,720.00	
14	40-ft PCC Intersection Radius	EΑ	2	\$	4,927.44	\$	9,854.88	\$	8,000.00	\$	16,000.00	
15	Handicap Ramp	EΑ	76	\$	3,785.40	\$	287,690.40	\$	650.00	\$	49,400.00	
16	Restore Lanscaping, Gravel, Etc	LS	1	\$	15,750.00	\$	15,750.00	\$	14,000.00	\$	14,000.00	
	Т	otal I	tems 1-16			\$	1,005,348.48			\$	1,033,370.00	

20th Street - Cleveland Field to 17th Ave - Concrete Repairs			Mark Chrisman Trucking					Paul Reed Const. & Supply				
City of Scottsbluff 140719 CR 26					2970 N. 10th St							
Bid Date: July 12, 2023 @ 2:30 pm Mountain Time			Gering, NE 69341					Gering, NE 69341				
No.	Description	Unit	Quantity		Unit Cost		Total	Unit Cost			Total	
1	Mobilization	LS	1	\$	50,000.00	\$	50,000.00	\$	23,717.28	\$	23,717.28	
2	Traffic Control and Safety	LS	1	\$	30,000.00	\$	30,000.00	\$	23,789.25	\$	23,789.25	
3	Remove Existing Pavement, Curb, Gutter, Sidewalk,	SF	65000	\$	1.75	\$	113,750.00	\$	1.46	\$	94,900.00	
4	5-in PCC sidewalk	SF	25000	\$	8.50	\$	212,500.00	\$	10.39	\$	259,750.00	
5	8-in PCC Pavement	SF	15500	\$	9.30	\$	144,150.00	\$	10.90	\$	168,950.00	
6	PCC Curb and Gutter	LF	6700	\$	40.00	\$	268,000.00	\$	48.33	\$	323,811.00	
7	Replace Inlet Frame	EA	17	\$	2,600.00	\$	44,200.00	\$	1,668.22	\$	28,359.74	
8	7.5-ft PCC Intersection Radius	EA	3	\$	1,550.00	\$	4,650.00	\$	437.45	\$	1,312.35	
9	10-ft PCC Intersection Radius	EA	14	\$	1,750.00	\$	24,500.00	\$	576.34	\$	8,068.76	
10	12.5-ft PCC Intersection Radius	EA	1	\$	2,000.00	\$	2,000.00	\$	1,329.27	\$	1,329.27	
11	15-ft PCC Intersection Radius	EA	16	\$	2,250.00	\$	36,000.00	\$	1,987.39	\$	31,798.24	
12	20-ft PCC Intersection Radius	EA	12	\$	2,550.00	\$	30,600.00	\$	2,072.22	\$	24,866.64	
13	25-ft PCC Intersection Radius	EA	2	\$	3,800.00	\$	7,600.00	\$	3,519.30	\$	7,038.60	
14	40-ft PCC Intersection Radius	EA	2	\$	7,000.00	\$	14,000.00	\$	6,440.28	\$	12,880.56	
15	Handicap Ramp	EA	76	\$	300.00	\$	22,800.00	\$	313.52	\$	23,827.52	
16	Restore Lanscaping, Gravel, Etc	LS	1	\$	35,000.00	\$	35,000.00	\$	13,784.33	\$	13,784.33	
	T	otal I	tems 1-16			\$	1,039,750.00			\$	1,048,183.54	

20th Stree	Engineers Estimate						
City of Scottsbluff							
Bid Date:	July 12, 2023 @ 2:30 pm Mountain Time						
No.	No. Description				Unit Cost		Total
1	Mobilization	LS	1	\$	100,000.00	\$	100,000.00
2	Traffic Control and Safety	LS	1	\$	50,000.00	\$	50,000.00
3	Remove Existing Pavement, Curb, Gutter, Sidewalk,	SF	65000	\$	2.00	\$	130,000.00
4	5-in PCC sidewalk	SF	25000	\$	8.00	\$	200,000.00
5	8-in PCC Pavement	SF	15500	\$	10.00	\$	155,000.00
6	PCC Curb and Gutter	LF	6700	\$	35.00	\$	234,500.00
7	Replace Inlet Frame	EA	17	\$	1,000.00	\$	17,000.00
8	7.5-ft PCC Intersection Radius	EA	3	\$	2,000.00	\$	6,000.00
9	10-ft PCC Intersection Radius	EA	14	\$	2,500.00	\$	35,000.00
10	12.5-ft PCC Intersection Radius	EA	1	\$	3,000.00	\$	3,000.00
11	15-ft PCC Intersection Radius	EA	16	\$	4,000.00	\$	64,000.00
12	20-ft PCC Intersection Radius	EA	12	\$	5,000.00	\$	60,000.00
13	25-ft PCC Intersection Radius	EΑ	2	\$	6,000.00	\$	12,000.00
14	40-ft PCC Intersection Radius	EA	2	\$	8,000.00	\$	16,000.00
15	Handicap Ramp	EA	76	\$	800.00	\$	60,800.00
16	Restore Lanscaping, Gravel, Etc	LS	1	\$	25,000.00	\$	25,000.00
	T	otal I	tems 1-16			\$ '	1,168,300.00